g Exercise 3.04:
Provide the dedacled a{jon'uwz (e for the
lecgles u, and Ay ) of the so-called Bramble - Pasciak-C6

which is nothing else but the PC&, precoed tioncd
by S, for so?umj (¢1) SX-=FE,

and pr'ow'o/e the Cafileaucf/kj 1Yerafon
erior ectmate !
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d=F-SX

T )
'(A—A,> A f - (A-A)ATA u -~ (A~AGl A, B A

LBAQ‘{. ~a - BANA-A)u -BAS'BTA - CA

CCA-A) AL (£- Ay -BTA)
LBfAZ‘(f-Au-BTA)+M]-CA".1

|

|

g Execcise 2.135:
Wede down the prec‘oad{l{anecf l?m('afc(:m-keﬂcocf
(A-A.)A;‘£J

z Xm;&(‘ 4 S.XKS—E::[&A;‘.E—Q

foe Sol()m‘j (G’l) SX= £ indefall (for yy aed 4.)!
Which ercor et\tll'h‘i{f_f dlo coee Kunow ?
Desceche the relation o]( -I\L RichasdSon ~ Method
(Api= £G ) aud the Aviow - Kurwict- Mebhod (5%) !



